PRICE LIST
EXPLODED VIEW

ol

—

©2002 TEAM LOSI, INC.

A-0251
A-1146
A-1229
A-1230
A-1233

A-1540
A-1542
A-1610
A-1615

A-2127
A-2161

A-2909
A-2911

A-3065

A-3070
A-3097
A-3098
A-3099

A-3209
A-3211

A-3226
A-3238
A-3239
A-3244
A-3250
A-3260
A-3946
A-4002
A-4003
A-4004
A-4209
A-4216
A-4224
A-4229
A-4233
A-4236
A-4238
A-4243
A-5013
A-5015
A-5023
A-5046

NV [LLeX

PHITE

Effective: 12/1/02

ALL PRICES SUBJECT TO CHANGE WITHOUT NOTICE

NOT RESPONSIBLE FOR TYPOGRAPHICAL ERRORS

TEAM LOSI PERFORMANCE

XXX-S Graphite Plus Competition Sedan Kit N/A

Front Outer & Kingpin 3/32" x 870" ......cocooiiiiiiiii $3.00
Front & Rear Low Roll Center Pivot Blocks(XXX-S/G+)$5.00
Front Pivot Support Set (XXX-S) ..o $6.00
Spindle Carrier Bushings & Hardware (XXX-S)........... $5.00

Steering, Servo Saver & Mounts (XXX-S)....
Steering & Servo Saver Hardware
Steering Hardware Set ...
Short Ball Cups & Threaded Rod
‘CR’ Rear Hub Spacers (.060") .........
Inner Rear Hinge Pins 1/8" x 2.04"
“Monster Dift” Adjustment Screw & Hardware ....
One-Piece Diff Nut/Carrier ........ocooovvviiiiiiiiiiiee
Silicone Differential Compound ...........ocoocooiiiiiinn.
Transmission Drive Rings (2) ..o,
Molded Outdrive Set (Pin Drive).........ccoooooioiieiioi.
Diff Thrust Bearing w/Carbide Balls
Full Compliment Thrust Bearing Set
Extra Flexible Main Drive Belt - Yellow (XXX-S/G+) ....
Pulley Set- Front/Rear Idler (XXX-S)......ccooooviiiiiiiin. $7.50
Lowered Motor Mount W/SCrews ...........cccooevinininnnn
Topshaft Set w/Hardware (XXX-S)

Belt Tensioner, Post & Hardware (XXX-S) .................... $5.00
One-Way/Clicker & Gear Access Plug Set.................... $3.00
Front Spool Pads (XXX-S/G+) (2) ceceoieiiiiiiiiiiii, $1.75
Wheel Hex Drives-Standard & Metric (XXX-S) .............. $5.00

90T, 48P Spur w/Drive Pulley (XXX-S)
Antenna Kit ..o
Antenna Caps ..o
Servo Tape (6) .coooiiiiiiiiiii e
Gear Cover and Screws (XXX-S) ....ooooiiiiiiiiiiiiiei,
Motor Mount Clamp & Hardware (XXX-S)
Threaded Chassis Inserts (XX4, all XXX)
Front & Rear Body Mount Set (XXX-S) ...cccooovviinininn

Xtra-Resiliant Foam Bumper/Body Saver (XXX-S/G+) $4.00

Front & Rear Bumper Set (XXX-S) ..o, $7.00
Upper Bumper/Body Mt. Brace (XXX-S/G+) ... $5.00
Battery Posts & Antenna Mounts (XXX-S) ... $3.50
Front & Rear Upper Shock Mount Bushings (XXX) ..... $3.00
Double O-Ring Shock Cartridge ..........ccoocooooiiiiin. $2.00
Spring Clamps & Cups (2) oo $2.50
Teflon Shock Piston #56 (Red)........ccooovovviiiiiiiiiiii $3.00

A-5052
A-5053
A-5057
A-5058
A-5059
A-5108
A-5123

A-5224
A-6001

A-6003

A-6006
A-6007
A-6008
A-6010
A-6030
A-6100
A-6201

A-6204
A-6205

A-6206
A-6210
A-6212
A-6213
A-6215
A-6216
A-6220
A-6228
A-6229
A-6230
A-6234
A-6245
A-6300
A-6301

A-6305
A-6306
A-6310
A-6350
A-6365
A-6401

A-6907
A-6910
A-6915

CHOICE OF CHAMPIONS

.28” Threaded Shock Body Set w/Nuts ...
.36” Threaded Shock Body Set w/Nuts ...........
Threaded Shock Body Adjustment Nuts (4) ....................
.28” Titanium Nitrided Shock Shaft ...
.36” Titanium Nitrided Shock Shaft ....
17 Spring 20.0 Rate (Purple) ............
1.15" Spring 12.6 Rate (Silver) ...............
Team Losi Certified Shock Fluid 30wt ...
Ball Studs w/Rod Ends 4-40 x 3/16" (4) ..cccooiviiiiie
Foam Things (Linkage Rings) (24) ...cccoooiiiiiiiiiii.
Ball Studs w/Rod Ends 4-40 x 1/4" (4) ..ccooooviiiiiiie
Ball Studs w/Rod Ends (Short Neck) 4-40 x .345” ........
Ball Studs w/Rod Ends (Short Neck) 4-40 x .27 ............
Short 30-Degree Plastic Rod Ends (12) ...
Assembly Wrench (Version 2) ..o,
178" E-ClIPS toiiiiiiiiiiie e
3mm x 6mm Cap-Head w/Washers (10)
4-40 x 1/2" Cap-Head Screws (10) ...coooooiiiiiiiiiin,
4-40 x 3/4" Cap-Head Screws (10) ...cocooiviiiiiiiiin,
4-40 x 3/8" Cap-Head screws (10) ..ocoocooiiiiiiiiiiiin,
4-40 x 3/8" Flat-Head Screws (10) ........occooovvviiiiiiien
4-40 x 1/8" Button-Head Screws (4)
4-40 x 1/4" Flat-Head Screws (10) ........cccoooveviiiiiiie,
#4 Narrow Washers (10) ..o
4-40 x 7/8" Cap-Head Screws (10) ...cocoovviiiiiiiiin,
4-40 x 1/2" Flat-Head Screws (10) ........cccooovviiiiiiiie
5-40 x 1/8" Hardened Set Screws .........
4-40 x 3/8" Button-Head Screws (10) ...
Shim Assortment- 3/32", 3/16", 1/4", 1/2" ...
4-40 x 1/4" Button-Head SCrews ...........ccoceviiiiiiiiiin.
4-40 x 5/16" Button-Head Screws ...........ccccoovvviiiiiiinnn
4-40 Hex Nuts (10) ..o,

4-40 Locking Nuts - Nylon (10)...
4-40 Locking Nuts Low Profile ...
4-40 Aluminum Mini Nuts (10) ...
8-32 Aluminum Lock Nuts ..o
#4 and 1/8" Hardened Washers .....................

Hub Bearing Spacer & Shim Set (XXX-S)
Pins — Wheels and Gears ..o, .
Smm x 8mm Bearings (All XX, XXX, XX4) (2) .ccceoverennn
1/2" x 3/4" Ball Bearings w/Shields (2).......ccccooirinn.
Ball Bearing Steering Set (XXX-S/4) ..o




FRONT SHOCK

A-6916
A-6951
A-7704P
A-7799
A-7809
A-8053
A-8200
A-8333
A-9607
A-9737
A-9744
A-9748
A-9753

A-5052

A-4236

3/16" x 3/8" Bearings w/Shields (Sedan) .......................... $5.50
3/32" Carbide Diff Balls (12) .o

24 x 46mm Racing Slicks W/Inserts .............c.occocoeiiiiiiin
Molded (Profiled) Tire Inserts - Firm
24mm Mesh Racing Wheels (4) .........
Alpha 156 Body & Wing w/Masks ...
Body CLPS (12) oot
XXX-S Graphite Plus Sticker Sheet ...,
Battery Insulation-Precut (XXX-S/G+) ....cooovviiiiiiiiin, $3.95
Graphite Front Suspension Arms (XXX-S) .......cccooooviiinn $11.00
Graphite Front Shock Tower (XXX-S) .....ccoooviiiviinininn. $10.00
Graphite Front Pivot Support Set (XXX-S) ...cocoviiiiiininn $9.00
4 Deg. Graphite Spindles & Carriers (XXX-S) ....coooviiiinn $12.00




A-4229

A-9845
A-9848
A-9854
A-9860
A-9897
A-9898
A-9899
A-9918
A-9929
A-9933
A-9940
A-9971

A-7704P

(&)
%\ A-5015
@\ A-5023

=

A A-5023

@\
N oo
A-6204

REAR SHOCK
Graphite Rear Shock Tower (XXX-S/G+) ..ccooovoviriiiin. $11.00
Graphite Rear Pivot Support Set (XXX-S) ..o $9.00
Graphite Offset Rear Hubs (XXX-S/G+) ..o, $7.50
Graphite Rear Suspension Arms (XXX-S/G+) ....ccoovvvrnnn. $11.00
Graphite Rear Bottom Cover & Steering Tunnel .................... $8.75
Graphite Battery Strap & Droop Gauge ...........ccooveviiiininnn. $8.75
Graphite Front & Rear Dift Cover (XXX-S) ....ccooviiiiinnnn $9.50
Graphite Main Chassis (XXX-S) ..o $54.95
Aluminum CVD’s Front or Rear (XXX-S) ..........occooevienn. $35.00
MIP CVD Rebuild Kit ..o $7.00
Aluminum Suspension Balls-Hard Anodized (4) .................... $3.95

CVD Aluminum Drive Shaft (XXX-S/G+) .......cccoooviiiiiii, $9.95



A-1208
A-1214
A-1224
A-2201

A-2221

A-2226
A-2230
A-3245
A-3246
A-3247
A-3248
A-3944
A-3945
A-3950
A-3952
A-3954
A-4206
A-4212
A-4213
A-4237
A-4240
A-5043

A-5045

A-5046
A-5047
A-5048
A-5050
A-5110

A-5117

A-5118

A-5119

A-6234
A-6350

Tuning Parts For the XXX-S Sedan

Front Shock Tower (XXX-S)....cccocooioiiiiiiiiieeeee $6.00
Front Suspension Arms(XXX-S) ..o, $7.00
Front Spindles & Carriers (XXX-S) ..o, $7.00
Rear Shock Tower (XXX-S) ...ooooiiiiiiiiiieeeeee $7.00
Rear Suspension Arms (XXX-S) ..o, $7.00
Rear Hub Carriers (XXX-S)

Rear Inner Pivot Support Set (XXX-S) ..cooovoiiiiiiiiiin. $6.00
One-Way Assembly (XXX-S) ..o $60.00
One-Way Outdrive Cup w/Drive Pin ... $8.00
One-Way Hub w/One-Way Ball Bearing (Left) ............ $27.00

One-Way Hub w/One-Way Ball Bearing (Right) ...
86T/48P Spur w/Drive Pulley (XXX-S)
88T, 48P Spur w/Drive Pulley (XXX-S)
108T 64-Pitch Spur w/Drive Pulley (XXX-S)
118T 64-Pitch Spur w/Drive Pulley (XXX-S) ..o,
128T 64-Pitch Spur w/Drive Pulley (XXX-S) ....
Main Chassis (XXX-S) ..oocooiiiiiiiiiiiiieiieiee

.00
.00
.00
.00
.00
.95

Chassis Bottom Cover & Steering Tunnel ..... .50
Front & Rear Diff Cover (XXX-S) ..o, .00
Xtra-Rigid Front & Rear Bumper Set (XXX-S/G+)........... $7.00
Battery Strap & Droop Gauge (XXX-S) ..o $5.50

Teflon Shock Pistons #60 (Natural)...
Teflon Shock Pistons #57 (Black) ......
Teflon Shock Pistons #56 (Red)
Teflon Shock Pistons #55 (Orange)
Teflon Shock Pistons #54 (Blue) .........ccoovviiiiiiiii
Shock Spacer Set ..o
17 Spring 25.0 Rate (Black)
1.15” Spring 7.6 Rate (White) .........cocoooviiiiiiiiiiii,
1.15” Spring 8.6 Rate (Orange)
1.15” Spring 9.6 Rate (Yellow)

.00
.00
.00
.00
.00
.50
.50
.50
.50
.50

A-5120
A-5121
A-5125
A-5126
A-5218
A-5222
A-5223
A-5225
A-5226
A-5227
A-5228
A-5229
A-5230
A-5231
A-5232
A-5240
A-5241
A-7701B
A-7711B
A-7T711R
A-7807
A-7880
A-7881
A-7885
A-9747
A-9752
A-9754
A-9847
A-9852
A-9853
A-9855
A-9856

%—/‘\__

Always Racing Towards The Future.

4710 E. Guasti Rd., Ontario, CA 91761, 909.390.9595

fax: 909.390.5356 « www.TeamLosi.com °
feedback@TeamLosi.com

800-0194

1.15” Spring 10.6 Rate (Pink) ...........ccooooiiiiii
1.15” Spring 11.6 Rate (Red)
1.15” Spring 14.6 Rate (Blue) ........c.ccooviviiiiiiiiiiice,
1.15” Spring 17.5 Rate (Dark Green)
Team Losi Certified Shock Fluid 45wt
Team Losi Certified Shock Fluid 20wt
Team Losi Certified Shock Fluid 25wt ...
Team Losi Certified Shock Fluid 35wt
Team Losi Certified Shock Fluid 40wt
Team Losi Certified Shock Fluid 50wt
Team Losi Certified Shock Fluid 60wt
Team Losi Certified Shock Fluid 70wt ...
Team Losi Certified Shock Fluid 80wt ...
Team Losi Certified Shock Fluid 90wt
Team Losi Certified Shock Fluid 100wt .................................. $3.50

Certified Shock Fluid On-Road 6-Pack 20wt-45wt ............ $18.95
Certified Shock Fluid On-Road 6-Pack 50wt-100wt ............ $18.95
S-01 Slicks (Blue) w/Molded Inserts .............. $13.95
S-11 Intermediate (Blue) w/Molded Inserts .......................... $13.95

S-11 Intermediate (Red) w/Molded Inserts .......................... $13.95
24mm Sport Sedan Dish Wheels-White (4) .........ccccccooiin.
Tire Glue (STD)
Tire Glue (Thin)
On-Road Tire Gluing Kit

0 Deg. Graphite Front Spindles & Carriers (XXX-S) ........... $12.50
2 Deg. Graphite Spindles & Carriers (XXX-S) ....c.ccoovviinnn $12.00
6 Deg. Graphite Spindles & Carriers (XXX-S/G+) ............... $12.00
Graphite Rear Hubs (XXX-S) ..o $7.50
1/2 Deg. Graphite Rear Hubs (XXX-S) .. $7.50
1 Deg. Graphite Rear Hubs (XXX-S) ... $7.50
1/2 Deg. Graphite Offset Rear Hubs (XXX-S/G+) ..o $7.50
1 Deg. Graphite Offset Rear Hubs (XXX-S/G+) ...cocovovviirnn. $7.50



